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Number of 7 letter words formed by the numbers “1, 2, 3" such that the sum of digits
is 11.
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6 letter word formed with the letters from "Maths" such that the letters selected
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Sum of the first three terms of an AP with integral common difference is 54 and sum
of the first twenty terms lies between 1600 to 1800, find a,;,.
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Let the line L, passes through the point (¢, 3, y) perpendicular to L, and L, and L,
intersect line L, then [S5a — 118 — 8y|.
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The minimum value of n for which the number of integer terms in the binomial
expansion of (71/3 + 111/12)7 js 183, is

Te = "6 (@0*)”
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If R be a relation defined on (0,1/2) such that xRy = sec’x — tan®y = 1, then the
relation. : 2 Sec o = I+ tw:‘fg
—J

@ yxxivalence relation Sec™ % = Sech ‘df

Secn =
Reflexive and transitive only

2
@ Symmetric and transitive only ]

@ Neither reflexive nor transitive
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Areaenclosedbyy > |x — 1|,y + |x] < 3,x% £ 2y — 3 is A, then 64 is (in sg. units)
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1z, — 8+ 2i| <1and |z, — 2 -6i| < 2 then minimum value of |z; — z,| is equal to
e )
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Ificos™'x = m+ sin"'x 4+ sin™*(2x — 1),/then find the sum of all values of ‘X’
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The minimum value of p such that
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